MATH 215
Practice -Exam 2

1. Find the inverse of the given matrices. Show ALL row operations that you used.
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c¢) Using the inverse of the matrix A =

Arbo
X= A'b

Uy P Y3
o‘/(‘ \/8

,\‘l ..\/,1 S/@

-

/11?\ ¢

o

~%he %o
Y Vg

“Y%o Y0
% Yo

\
0

T

4 -3

8 —1
%5 s
Y %

121
314
294

N = BN
QNG

|

1
3
2

lso] 73
o110
o~‘10 )."/

-3?\*'?1“7QQ ,‘/“ KQ ARQ
.9?["“3 7&3 1 30 - o-‘
12\]100 o 1o 4%
Briig] Bata
= .20
\o - 3Rt 2Ry
’[7?3 1230 R}"R}'?R}
SN|858 ) | (ool
o-11|-10% 0[0\/3,‘1/8
-Q;Nﬁih 00| Pk
AU Y ‘5/q Vg
R
121 —v} 'V~1 (g !
3 1 4 | from part b) above solve Az = b, where b= | 0
2 2 4 5
A - Y8 ) -SH
Vo 4 3/8 o 3/1
—\’) 4 )0& | 3/“‘



A=

1 2 4
-2 -3 -5 and B =

2 1 -1

1 4 -2
2 7 -1
2 9 7

2. Using cofactor expansion across the first row to compute the determmant of A (Show all of your work!)
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3. Using cofactor expansion down last column to compute the determlnant of B. (Show all of your work!)
deb(B)= () - €D)-det
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4. Using row operations combined with cofactor expansion, compute the determinant of A and the determinant
of B - | W= | = =
ol 5 e 1o | S @rda] oy | b e
C*(P‘)‘éc)" 0-3 -9 o\n oot
Wiy Re*Rs=7 3
YR S AL B -
2R+ ks 23 = (D117 -1y

» 9-(1=["% -4 -9% C\,C*{AT) =n§c‘\'(A>=O.
1 (=11 1999 A G 17

ddr(AB) = dct(A)-de}(B) =0 (1) =0

6. Matrix A invertible? Matrix B invertible? Do the columns of A span R3?
Are the columns of B linearly independent?

5. Compute the product AB. What is the determinant of AB? What is the determinant of A7?
AB: 23 5],
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7. Let T : R® — R? be the linear transformation such that T (

Find the standard matrix representation of 7' and T’ (

i)

A= [Tl T(e) Tles] = B g ﬂ
T(ﬂ= Ax = [ 3]
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